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Making the Whole

4. Complete the fractions and match them to the representations to make a whole.

2 1 3
L] L] L]

T T 7]
7

5. Ellie and Ron have combined the number of gems they both have.
~
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5. Ellie and Ron have combined the number of gems they both have.

| have more gems
than Ron.
Ellie

9
9

My fraction is less
than than Ellie’s.
Ron

Use the clues to identify the fractions for each child. Write a statement for the
representation using fractions.

6. Hannah has written the fractions to make a whole for each representation.

@ vear-3-Spring-Bloc..pdf ~ @ Year-3-Spring-Bloc..pdf A Showall | X





image3.png
[@ileile B m|@|e|e '« A= (@ (&0 @@ |2 o @ @@= (@0 |@ @ ||+

C @ File | CyUsers/jclarke/Downloads/Year-3-Spring-Block-5-Step-2-HW-EXT-Making-the-Whole.pdf Q% B

Use the clues to identify the fractions for each child. Write a statement for the
representation using fractions.

6. Hannah has written the fractions to make a whole for each representation.

3 5
A 3 - 3
Y 5

2 4

s 5 T 5

Has she completed the statements correctly? Explain how you know.
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2. Aliya = ; Rahul = 3: 1 +2 =3

3. No, he has not completed the queshons correctly because A and B are wrong. A: _1_
+43 =4 .52 41 =3 E

4 4 3 3 3
Expected
jle= 4 :Ron=3 .4 43 _7
5. Ellie 7,Iton 7,7+7 7

6. No, she has not completed the questions correctly because A and B are wrong. A: %
+3 -6.p53 .2 _5
[} ) 5 5 5

Greoler Depth

- 5 2 4 2 1 4
7.A=—" < =< =L 4
9 and = or N and —;B= 3 and = 3 ,C 9 and 9

8. Harry = _,Toby—L,Allna— 4.3 +2+4 =29
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